normalized X2

107}

1072

107

1.135
Std D 0.8141

2059
12

Oé4 6 8 10 12 14 16 18 20

[ normalized x? probability |

0.05--
0.04f

0.03f- -

0.02

Ratio

-

X2
=== DQMsTep3_TT_CRF
m—— DOMstep3_TT_default
— DQMstep3_TT_ckfPixelLess
s DQMstep3_TT_default-relf3
e DQMstep3 TT_defaultNEWTOLDSAMPLE-relf3
5
A F = E
5 2.4F--- g F
< o A A
< 2.2:—- - o 3:__
Y F-1- 7 E
2: o 2E-
ab-|- © E
18 v .
1.6f-1{- E
E OF-
1.4 _—'| E
E -1E=-
1.2 E
E- —2E
] -3f-
0.8F-- E
E i
0.6 - 3
! g
E r g 15F
0.9F L3 i i
05F --f- 4 {H-H- 11 :
o, o ! 3 3
-3 -3 -2 -1

< x2/ ndf >

10?

<dpp. > (%)

Ratio

0 2 3
TP n (PCA to beamline)

< X2/ ndf >
N
00

i
T T[T [T [T T I [T TIT T

Ratio

-2 -1
10 AR(track, jelts)



	Contents
	Page 1


